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X 5 = 13 s (km) £ ® xR (%)
& &t o | 8 E |moE| % | Bo#E |8 &|@w @
SHTE| 492.0 34.0 60. 6 397.4 80.9 100.0 96.9 76.8
(397. 8) (34.0) (58.7)| (305.1)
24  491.9 34.0 60. 6 397.3 80.9 100.0 96.9 76.8
(397. 8) (34.0) (58.7)| (305.1)
34| 4876 34.0 60. 6 393.0 84.7 100.0 96.9 81.5
(412.9) (34.0) (58.7)| (320.2)
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CEEERLIT. RERNCERIERERMAEZERES B BERE - BFHEERGEREE

FROLV-ERZLS,

GE) (

) RORIEL. HEFERTHD,



4 T B (REE 3 AIIERE) (B4 - km)
X 2 B E & x g B it
g E 5.5mllE 5. 5m=Xki 5.5mElE 3.5mLilE 3. 5mEkE (EER)
SMTHE 78.3 226. 3 0.6 3.6 88.6 397.4
24 78.4 226. 4 0.6 3.6 88.3 397.3
35 87.9 232.3 0.8 2.4 69. 6 393.0
44 88.1 232.2 0.8 2.4 69. 6 393. 1
54 88.3 232.0 0.8 2.4 69. 6 393. 1
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1 #& T & 31.0 14.5 0.1 - 0.6 46.2
2 % & 18.5 23.3 0.2 0.6 2.1 44.7
ZTDMmDHE 38.8 194.2 0.5 1.8 66.9 302.2
& [} 88.3 232.0 0.8 2.4 69.6 393. 1
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B F 1 = 161 197 151 161 146
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T ES A = E - - 1 2 3
i g 1 2 2 3 6
B ® E W - - - - -
F ® P (3 2 - - - -
z o i #E F 36 20 12 10 13
B (A) 210 229 170 186 175
E 7] F # 1 3 2 1 1
5 i 8 14 1 - 5
T & ) 2 3 1 - 1
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it (B) 14 23 1 3 8
&it (A+B) 224 252 1717 189 183
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